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Cigarette Consupiption
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Price and Quantity of Cigarettes
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call:
Im{farmula = quantity - price)

Res1dua1s
s 1 Median iq Max
—56.9?? -9.710 -0.716  B.550 £9.451

Coefficients b. (#) .
@ d. Error t value Pri=|t|}

(Intercept) 167.8773 3.79749 44,21  <2e-16 #**

price 1879 0.02468 -16.56 <2e-16 *=%
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standard erroyp:
e R-squared i]
tistic: 274.3%on 1

18.76 on 526 degrees of freadom
3427, adjusted R-squared: 0.3415
and 526 DF, p-value: = 2.2e-16
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Price and Quantity of Cigarettes

quzrlis

price

Price of Diamonds
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« What determines the price of a diamond? ‘

» [Tow can the “model” for diamond pricing be L/
represenled in an equation?
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« Data: price— price in Singapore $s, carat — weight of
diamond stones in carat unit
e ['rom 2000, # = 308 (Source Ch, Singfat (2001) “Pricing the C’s

of Diamond Stones™, Tournal of Statistics Cducation, % 2)_')
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Price of diamonds, by carats
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call:
Im(formula = price ~ carat) =5 'P Thﬂ S‘ﬂ q
Residuals:

Min 1o Median Max

Q
-2z264.7 -604.3 -116.1 5.1 &591.5

coefficients:

Estid 5
(Intercept}
carat ! g

signif. codes: O “*=*' 0.001 *==" (.01 '*" 0.05 *." .1 ' ' 1

. Error t value Priz|t]}
158.5 -14.50  «Zp-1f %#%
230.1 50.41 <2e-1f #E=

Residual standard error: 1118 on 30& degrees of freedom
MuTliple R-squared: 0.8925, Adjusited R-squared: 0.8922
F stati S‘E'IC 2541 on 1 and 306 DF, p-value: < 2.2e-16
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Price of diamonds, by carats
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Marginal Propensity to Consume MPC
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Marginal Propensity to consume Mrc
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s Data: income - total disposable income (million JP}??HJ"{"" {
Pounds, current prices), consumption - consumer s, vhrosble
pro=——===uu s

expenditure (million Pounds, current prices)
e From UK. 1971-1985 (quartel‘ly), n=>58 (Rcfcrcm:cs

YVerboeek, Marno (20047 A Guide w Modern Geonometrics, John Wiley

and Sony, chaplers & and 9,}

Caonsumption and Income In the UK.
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» summary(Im{consumption ~ income)) " aredde]

call: i :
ImCfarmula = Consumption - income)

Resjdlial s

-1804700 .08 =757, f jaa, 24397

SRR infercept is nef interesting
matefstd. Error t wvalue Pri=|t|}

({.768e+07)| 2.584e+02  0.684  D.497
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Coefficients;

(InLercepl)f 2. 584e+02 0.684 0,447

income 7.497e-03 115.911 <de-1b #==

signif. 0.001 “==' 0.01 '*" 0.05 ‘.7 0.1 1
rResidua) standard error: 905.3 on 56 degrees of freedom

Multiple R-squaked: U.QQSS,A%}usted R-squared: 00,9958
F-statistic: 1.344e+04 on 1 and 56 DF, p-value: < 2.2a-16
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Consumption and Income In the U.K.
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How should we
choose the line?
estimate the intercept
and slope?)



